A & R @ =

£ A H 29 & 8 A 31 H HFHIIEDHSH

At ;PR HALETR 54 FIRERE

I £ & 5 E-34

I = 4 BT B KRt 1 BRIRE R B T E

I = & P #oACET =# A

FE M (B A) 9,711,360 FH  Ad=mwmis @i 8,992,000 H

B & HI R ffi 4% (B 3A) 8,737,200 H  As=mtesfmss (B 8,090,000 M

FESHE (BRRL) 9,180,000 M #& <% (k) 8,500,000 M
*E4 A #L %8 i 5

HRs REMAE 8, 500, 000|%#LirE

AR KM 8, 600, 000

R EHESR 8, 630, 000

s #ait 8, 650, 000

REs #Hlan 8, 650, 000

HREHH KKRES 8, 790, 000

SxREH HAau 8, 800, 000

EEEAFLERICI007 DSICHHL T HEEZME L - EEA IR EHRA L
DEHAA IR DMEETH D,




